
Fluency Fifteen ­ Year 6 (Mastery)

Home Learning ­Session 2

1. 11,664,689 + 8,866,333 =

2. 99,779,504 ­ 779,889 = 

3. 4453 x 88 = 

4. 1,188 ÷ 22 = 

5. Write 10,022 in roman numerals 

6. Round 10,567,655 to the nearest thousand

7. 4/2 + 1/2 =

8. 6/4 ÷ 5 =

9. 9/12 ­ 3/4 = 

10. (222 + 54) ­ 43 =

New Learning ­ Model Example
For questions 10 ­ 15

  

Basic Skills ­ Recap

What do you already know?

0.95 =  95% =  95  (divide by 5)

                       100

so 0.95 (simplified) =  19

                                    20

Focus Learning ­ Fractions, decimals and % (See example 
above)
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